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AHOHEA 367,585 333,924 33,661
ALK 29 283,190 249,604 33,586
ALOHEH At 2| 283,190 249,604 33,586
A2 =AY 50,000 50,000 0
401 AIE2BIXL S THYI 50,000 50,000 0
01 A28l 50,000 50,000 0
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201 eer23| 40,180 36,180 4,000
01 AtR2t2|HI 23,180 19,180 4,000
Odet+=SHI(ZAL =X 82) 15,100
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100,000& 104 A+ 122 1,200
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o121+ - N 2= 29 2,000
2 35244l 17,000 17,000 0
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A2 H2S) 9,000
OHZHI(EAL EX 52 A2 A2 4,000
OAI2EbBI= X 4,000
206 M=l 8,898 9,319 A421
01 M= H| 8,898 9,319 A2
OZZxdE HE7E 1,000
Ooggas FFM| 6,898
a% 1,6193%3,830 £ 6,201
FER 1,741 %400 £ 697
OIS 22 1,000,000 *14] 1,000
405 AHaHE S 5,400 5,400
01 AL =S F = 5,400 5,400
OEE FY(FUNEHAY) 5,400
gl =29 7,284 13,894 26,610




SAT AR
AN =2&
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301 EtE NS 7,284 13,894 26,610
06 A= BUHAHINA 7,284 13,894 26,610
OAHH Xt=gdd 29 7,284
ANE=dHU 24 7,284
Sclity 29 130,650 102,650 28,000
301 EetE2 NS 130,650 102,650 28,000
o7 8&-01&-¥Es2a3 123,450 95,450 28,000
oolg+¢ 121,600
JlE=g 400,000& x20E « 12 96,000
o3 400, 000:& *20H «200% 16,000
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O0l& Saldl X2 30,0002 x20H 122 7,200
AT ZYAKRA 23,500 15,500 8,000
201 er2 3| 19,000 11,000 8,000
03 A=Y 19,000 11,000 8,000
OAtIFEZIo| 10,000,000& 12 10,000
OFEEN A= 9,000,000+ 14! 9,000
301 22N = 4,500 4,500
11 AALEIXIES 3,500 3,500
ONAOIESUEI(H43]) 125,000& *42] 500
OEE N 1,000,000& %12 1,000
OJIEFHAL 800,000 12 800
O0IF(28) M=Usl 60,0002 20 1,200
14 0Bt 2as 1,000 1,000 0
sSAHIRA 1,000,000& %12 1,000
Mol & THEH 2+l 43,500 43,500 0
KHeh THet ol 43,500 43,500 0
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OFFd Me22=d 25,0002 119! 2,975
2 s5=34l 4,000 4,000 0
OXtEtl 4,000,000 %14 4,000
202 04| 22,800 22,800
01 2LHAH| 1,200 1,200
O=U08l 100,000 «12& 1,200
02 XN 21,600 21,600 0
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203 HR=H| 11,120 1,120
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